Multiplication par Puissances de Dix (B)

Trouvez chaque produit.

74 x 103 = 58 x 103 =
49 x 10° = 13 x 10% =
94 x 103 = 98 x 10 =
50 X 10% = 41 x 103 =
33 x 103 = 26 X 103 =
4 x10%= 3x10%=
19 x 10t = 86 x 10% =
92 x 10% = 24 x 10% =
64 x 10! = 4 x 103 =
26 X 10% = 33 x 10% =
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Multiplication par Puissances de Dix (B) Solutions

Trouvez chaque produit.

74 x 10 =74 000 58 x 10° =58 000
49 x 10° =49 000 13 x 10* =1 300
94 x 10° =94 000 98 x 10' =980

50 X 10?2 =5 000 41 x 10 =41 000
33 x 10° =33 000 26 X 10° =26 000
4 x10% =400 3 x 10° =300

19 x 10* =190 86 x 10% =8 600
92 x 10> =9 200 24 x 10%> =2 400
64 x 10' = 640 4x10°=4000
26 X 102 =2 600 33 x 102=3300
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